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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671067
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 99836719719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1,2,3,4,5 and &. In the options, four possible arrangements of these nurmbers
are given. Choose the option 50 that the letters form a meaning ful word.

RECFTS3:
122456

Options:

1. ® 515423
= ¥ 436521
3. % 261534
4. % 521364

Question Number : 1 Question Id : 99836719719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FT AR W1 1,2,3,4,5 % & wuTer 7 7 3 Teraret 8, 29 Swarert & I STied coae Tl of S 2 39 Twed & o @
1T T4 U Arier Jeg o &ehl

RECFTS
122456
Options:

1. ® 515423
2 ¥ 436521
3. % 251534
4 % 521364

Question Number : 2 Question Id : 99836719720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1. % FIM
= ¥ NQT
3. % DGK
4, ® WID

Question Number : 2 Question Id : 99836719720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FIM
2 ¥ NGT
2. ® DGK
4 % WID

Question Number : 3 Question Id : 99836719721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % Ostrich
= % Sparrow
3. % Crow

4. % Pigeon

Question Number : 3 Question Id : 99836719721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ{qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Foie & W 51 §TAlh, U [ded ST o 14 1 a¥g Al 51 39 e o7 == & =1 arehl &
ATETT

Options:

1. ¥ gt
2 & Tfar

3. % w@tar

4. % e

Question Number : 4 Question Id : 99836719722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
termL

WHE O SUW O PRT (Y
Options:

1. % WTZ

= % NP3

39 MOD

4. % PNE

Question Number : 4 Question Id : 99836719722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % VTZ
o % IPS
=V MOO
4. % PNE

Question Number : 5 Question Id : 99836719723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If *#+ means Seema is pretty, - percent# means pretty and beautiful, -7 means beautiful girl, what is the code
for 'and"

Options:
1. % #
o %o

3. ¥ percent
4 % -

Question Number : 5 Question Id : 99836719723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

$*#+§H arf & Seerma is pretty, — Widaa# @7 anf § pretty and beautiful, -7 @7 arf § beautiful girl, 91 'and' ¥ 70
T &

Options:
1. % #
o o
= ¥ g
4 ®o_

Question Number : 6 Question Id : 99836719724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If ALEUM is coded as EFFYC, then what will ELACEK be coded as?

Options:
1. ¥ CMEDL

2 ® BEODFN
2. ¥ FPEGO
4 # SOFHP

Question Number : 6 Question Id : 99836719724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i ALEUM &1 EPFYQ) & &0 # ®ilad forar a7 5, 97 ELACK W 3 iz feram s

Options:
1. % CMEDL

= % EODFN
2. ¥ FPEGO
4 ® GOFHFP

Question Number : 7 Question Id : 99836719725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

Five girls took part in a race. Eashi finished before Manisha but behind Garima. Ankita finished before Sakshi
but behind Manisha. Who won the race?

Options:

1. ®* Rashi

. % Garima

= % Manisha

4. % Ankita

Question Number : 7 Question Id : 99836719725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Mar_ks: 1 Wrong Marks: 0.25 .

gﬁ%ﬁmmm TS = AT # Uget wifer AT o a1 gl et di ST = ATl # U wiee BT 3 e
Options:

1. % aafa

2. T

Z % T

4 % gifgar

Question Number : 8 Question Id : 99836719726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eead the given statermnent and conclusions carefully. Assuming that the information in the statement is true,
everl if they appear to be in variance with commonly known facts, select which of the conclusions logically
followis) from the staterment bevond reasonable doulbt.

Staterments:
. Some parrots are peacocks.
II. Sorme crows are peacocks.

ZonClusions:

[. Sorme peacocks are parrots.

II. Some peacocks are Crows.

Options:

1. # Only Conclusion [ follows.

2. % Only Conclusion I follows.

3. % Neither of the conclusion follows.

4 % Both conclusion [ and I follows.

Question Number : 8 Question Id : 99836719726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % el Tmepd 1 21 e &eaT gl
2. % et T 11 STgEr FaT gl
3. % g T Fwrd arge AR o
4 ' 311 ST ST T )

Question Number : 9 Question Id : 99836719727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1.¥ 551
2 % 720
3. % 529
4. % 441

Question Number : 9 Question Id : 99836719727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁ%qngﬁh%ﬁ?ﬁﬁ;#tnﬁﬁﬁﬁﬁaaﬁﬁdﬁﬂmqéﬁaﬂﬁm1ﬁﬁﬁmﬁﬂaFa#tﬁﬁ?mgqﬁ%1Eﬂﬁmﬁﬂﬂﬂaaqm%qﬁaﬁﬁﬁ
ATETT

Options:

1.¥ 551
o ® 729
3 % 52a
4 % 441

Question Number : 10 Question Id : 99836719728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third munber on the same basis as the second number is related to the
first number.

13: 007692 14: 7
Options:

1. % 007569

2. % 008143

3 ¥ 007143

4 ® 07128

Question Number : 10 Question Id : 99836719728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ey T = ST ST AT § I W el A e W R €T Uge | ST  He g g

13: 007692 14: 7
Options:

1. % 007569

2 % 008143
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3. ¥ 007143
4. % 07128

Question Number : 11 Question Id : 99836719729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be intercharnged o malke the below equaticon mathernatically correct?

F0+6)-8x3+3=18
Options:

1% =, +

2 ¥ -, =

3% 4, -

4 % 4+ =

Question Number : 11 Question Id : 99836719729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tary T e & i € # Gyl @ o T TR 31 kel 1 ey S g AT ey

S0+E-8x2+2=18
Options:

1% w0, +

el

3% 4+, -

4 F 4+, =

Question Number : 12 Question Id : 99836719730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two numbers should be interchanged to rmake the below equation mathernatically correct?

Txz2+1z2+4-3=14
Options:

1. % 7,4

2 % 12,2

3.¥ 4. 3

4 % 7.3

Question Number : 12 Question Id : 99836719730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATl e T HE TR @ R w0 F " T o T e g Seanat ®t e i e S aneye
T+ lz+4-3=14

Options:

1. % 7,4

> % 12,3

3.9 4 3

4 % 7.3
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Question Number : 13 Question Id : 99836719731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing number in the fDllDW‘iﬂg TIUITIRer Series.

Options:

1. % 27
o 27
3. % 33
4 % -33

Question Number : 13 Question Id : 99836719731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Tear it # Taa G a1 @1

243z, -=51
Options:
1. % 27

o W o7
3 #® 33
4 #® _33

-9, 3

PR pe——

i

Question Number : 14 Question Id : 99836719732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
If 12353 =51, 1452 = 42, 1634 = 79, then what is the value of 17§37

Options:
1. % 61
2 %51
3. ¥ 66
4 % 54

Question Number : 14 Question Id : 99836719732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qfg 1243 =51, 1442 = 43, 164 = 79, T 17$3 @1 47 FAT 57

Options:
1. % 51
o %51
= ¥ 65
4 % 54

Question Number : 15 Question Id : 99836719733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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In the following figure, triangle represents artists, square represents military officers, circle represents stamp
collectors and rectangle represents fathers. Which set of letters represents stamp collectors who are military
officers?

Options:
1. #IG
= % GF
3. ® GFH
4 ¥ FH

Question Number : 15 Question Id : 99836719733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁﬁﬁﬁﬁ&@%ﬁﬁaﬁwaﬁwﬁmwﬁﬁﬁﬁw%aﬁhmﬁmﬁmﬁﬁﬁawﬁ TR THodaL] T
Wia TATea FaT & &% e fiaTert &1 nia =t aear aﬁmﬁmmmmﬁmﬁm%ﬁﬁ FAT 5 AT S
STTETT 27

Options:
1. % 1G
2 % GF
3. % GFH
4 % FH

Question Number : 16 Question Id : 99836719734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two men Kashish and Yash start from the same point. Kashish walks 0.2 km west, then turns north and walks
0.45 m, then turns to his right and walks 0.6 km. At the same time, Yash walks 0.1 km east, then turns left
and walks 045 k. Where is Yash now with respect to the current position of Kashish?

Options:

1. % 0.2k east
Z % 0.2 km west
3. % 0E krmeast
4. % 05 o west

Question Number : 16 Question Id : 99836719734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

& O AT ST T U B Teig & T H 51 W0 0.3 krny TS AT S, T 39 T S g2 g $ 0,45 m =TT g,
T ST 2T B q2aT & 51T 0.6 ken =i T 81 39T @Wg, 997 0.1 krn 08 # <o 8, 5 a1 g2a & 3% 0.45 krn =e@T #1 99,
TSN B AT Telg & RpaiT 3¢ ofv e T 7 27

Options:

1. % 02 kmyd
2. ¥ 0.2 km oW
2 % 0Skmd
4. % (.5 km 7R

Question Number : 17 Question Id : 99836719735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following cubes in the answer figure CANMNOT be made based on the unfolded cube in the
question figure?

I

]

.|
.

-+

x| O

Options:

P2
®

Question Number : 17 Question Id : 99836719735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
JaC AT H o O W U Sgid B U O o ST U FR 1 a1l AT qed T 57

ik
+IO] -
e
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Options:

GET IT ON
Google Play

Question Number : 18 Question Id : 99836719736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following answer figure completes the series of the question figure?

»
+ A

v |®

< X

|
+V

©

Options:

3 v
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A,

Question Number : 18 Question Id : 99836719736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaeET # 9 B | 30 AT WeT AT @ ARG B T A T a7

2] N| |2
+ A ax| |[+v ?
al |® <

Options:

%
T

3.%"‘@

Question Number : 19 Question Id : 99836719737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which answer figure will complete the pattern inl the question figure?

i?

s

Options:
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A,

4 o

Question Number : 19 Question Id : 99836719737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I Al IO AFIT e ATHid s H 0 @iy wry

Options:

4 &

Question Number : 20 Question Id : 99836719738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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oogle Pla
Adda247 2=
If a mirror is placed on the line MM, then which of the answer figures will be the right mirror image of the

given figure?

M N

/
7

Options:

4
/

1

N

4 % Nh

Question Number : 20 Question Id ; 99836719738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

fe; T U 147G M T T AT 5, 97 @i 61 30t HTg T ol T8 ATl @ @5 [ SuT Hid fee 57
M N

N=H

Options:

o o


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

(9N}

8
=
AN

erneral Awarensss

Group Number : 2
Group Id : 998367721
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

GETIeral AWATrerness

Section Id : 998367842

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671068
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836719739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following states Eardo Chharn dance is associated?

Options:
1. ¥ Rajasthan
o % Assam

= % Arunachal Pradesh
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A,

4 % EBihar

Question Number : 21 Question Id : 99836719739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TN FH o Tt # & T v i a8
Options:

1. % e

2. ® a@m

3. ¥ STETREA 0o

4 % fER

Question Number : 22 Question Id : 99836719740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following state is Tappa folk music related to?

Options:

1. ¥ Punjab

2. ® Uttar Pradesh

Z. % Himachal Pradesh

4 # pssam

Question Number : 22 Question Id : 99836719740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Al @ ReEd B F e e § gatdT 27

Options:
1. v
= % FEyougar

3. ¥ TEnmwEe nda

4 % sm

Question Number : 23 Question Id : 99836719741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Chapchar Kut, which is an annual harvest festival, is associated with which of the following states?
Options:

1. # Madhya Pradesh

2. % Harvana

= ¥ Mizoram

4 # Andhra Pradesh

Question Number : 23 Question Id : 99836719741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR e, 1 U T8 Bel Joad g, [Haiead § 8 o 0= & a2 57

Options:
1. % meoy o

2. % gl
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A,

3. ¥ TR
4, % iy

Question Number : 24 Question Id : 99836719742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a method adopted by REI to maintain the liquidity of economy?

Options:

1. % Cash Reserve Eatio

2. % Buying|Selling of Govt. Bonds
% % Reporate

4. ¥ Buying | Selling of shares

Question Number : 24 Question Id : 99836719742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaieTET 8 & @ a7 ag TO@T A5l 5 A A 1 7] stel gl Srefcaaes T & 9eadT @l e @ o o ST 7T 37

Options:

1. % e SIRTST amuTa

2. % TawRl as @ gl e
3 % mriT

4. ¥ Rt o g e

Question Number : 25 Question Id : 99836719743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ 15 a tax irnposad on imnports and exports of goods,
Options:

1. ® Excise tax

2. ¥ Custormn Duty

3. % Sales tax

4 # Service tax

Question Number : 25 Question Id : 99836719743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ HIA o AT ST Fid 0 T A aTeT & 3]
Options:

1. % Feume @7

2. ¥ diT g

3. % T e

4 ® gara

Question Number : 26 Question Id : 99836719744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Charle's Law, which of the following 15 corstant?
Options:

1. % py
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A,

o YT
3 % pPT
4 % pT

Question Number : 26 Question Id : 99836719744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT & T+ % arar, TeieiET § & oiar U e 27
Options:

1. % py

o T

3 % PT

4 % pT

Question Number : 27 Question Id : 99836719745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the f-:}ll-::-wing kingdorm does not have a nuclear merrbrans?

Options:

1. ¥ Monera
2. % Protisa
= % Fungi
4. % Plantae

Question Number : 27 Question Id : 99836719745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafetaT & & R fimen # vy Bear 981 g
Options:

1. & @i

2. ® mifeEr

z % gaw

4 & vl

Question Number : 28 Question Id : 99836719746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Strait of Gibraltar” Separates

Options:
1. % algeria and Spain

2. % Algeria and Portugal
= % Portugal and Morocco

4. ¥ Morocco and Spain

Question Number : 28 Question Id : 99836719746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wiT ATE ETeee I STAT HEAT 21

Options:
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A,

1. % et o &g
2. % eATiET o7 gd e

3. % g o g
4  TRE T HT

Question Number : 29 Question Id : 99836719747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Panchet Darm located?

Options:

1. % Himachal Pradesh
2. ¥ Jharkhand

% % Rajasthan

4 # Assam

Question Number : 29 Question Id : 99836719747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e At T § & e e i e 2
Options:

1. ¥ Bu=Ee ne

2 ¥ FREzE

3 ® T

4 % @y

Question Number : 30 Question Id : 99836719748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In which of the following states is the Khasi hills located?

Options:

1. % Assam

2. % Manipur
3 #® Sikkim

4. ¥ Meghalava

Question Number : 30 Question Id : 99836719748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaicET # & o veg o |t ugTiear e g
Options:

1. % a@w

2 % g
3. % fafgm
4 fEE

Question Number : 31 Question Id : 99836719749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Sirmon Cornmmssicon arrive in ndia?
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A,

Options:

1.9 1927
o % 1925
3. % 1930
4, % 1935

Question Number : 31 Question Id : 99836719749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT o ATSAT THIS Tal STT 4777

Options:

1.9 1927
= % 1925
3 % 1930

4 ® 1935

Question Number : 32 Question Id : 99836719750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At which of the following ancient Indian sites was the first astronomical observatory of the Harappan
civilisation found?

Options:

1. ¥ surkotada
2. % Lothal

=, ¥ Dholavira

4 ¥ Dabarkot

Question Number : 32 Question Id : 99836719750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferET # & T Wi W 1 S0 U 5Tl TeaT @l Ugell e creraTar ors 178 217

Options:

1. % geaesT
2 ® e
2 ¥ AT
4 ® EZTERET

Question Number : 33 Question Id : 99836719751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the third battle of Panipat, Marathas were defeated by

Options:

1. % Babur

2. % Humayun

% % Sher Shah Suri

4. ¥ Ahmed Shah Abdali

Question Number : 33 Question Id : 99836719751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

Correct Marks: 1 Wrong Marks: 0.25
U0 o o T g H, TSI /T _________ ST BT TTT &M

Options:

1. % gmax

2. % A

3. % I qE g

4. ¥ SEHT AT SegTel

Question Number : 34 Question Id : 99836719752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhere is the headquarter of UN located?

Options:

1. ¥ Chicago

2 % Boston

% % Los Angeles

4 % Dlew York

Question Number : 34 Question Id : 99836719752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hh TTE 1 e Hg] eod 57
Options:

1. % e

o ® e

2 ® HE e

4 & AT

Question Number : 35 Question Id : 99836719753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following have never won an oscar?

Options:

1. ¥ Resul Poolutty
2. % Satyajit Ray
% % 4 R.Rehman
4. ¥ Aamir Khan

Question Number : 35 Question Id : 99836719753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tgieriad o & o @t ot sffe 21 <iia7 27

Options:

1. % e gpst
o % geRE Y

3. ® 0 W AN
4. ¥ T ==
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Question Number : 36 Question Id : 99836719754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which amendment introduced Goods and Service Tax (G5T)Y

Options:
1.¥ 101
2 % 102
3 % 95
4 % 97

Question Number : 36 Question Id : 99836719754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o Harterd = g U €T W (SE ) B 0 Ty
Options:

1.9 101

2 ® 102

3 % 96

4 #® g7

Question Number : 37 Question Id : 99836719755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ideals of Liberty, Equality and Fraternity contained in the Preamble to Indian Constitution is borrowed
frorm the constitution of

Options:

1. % 1S5R

2. ® Germany
3. ¥ France

4 % Canada

Question Number : 37 Question Id : 99836719755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 17 Hierer &1 wearem1 § g sadadT, JamaT oK ayed & Mg ®f

Options:

1. % gifeag aEm=ae TEdl @ a9
2. % FAAT

3 v e

4. % FrET

Question Number : 38 Question Id : 99836719756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the first Chairman of the Crder of Business Cormrmittee of the Constituent Assermbly?

Options:
1. % alladi Krishnaswar Avyar
2. % E. Pattabhi Sitaramayya

% % H.C. Mukherjee
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Question Number : 38 Question Id : 99836719756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl AT ST S0 0T & STET 9 UEel STee & &7

Options:
1. % STFdTel g ST
2. %t gy diewaar

3. % g A g
4. T H gt

Question Number : 39 Question Id : 99836719757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following teams was the first winner of the Pro Kabaddi League?

Options:

1. % Bengal Warriors

2. ¥ Jaipur Pink Panther
= % Telgu Titans

4. % Bengaluru Bulls

Question Number : 39 Question Id : 99836719757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimET & & & ° T O TRt ST & ugel et ot

Options:

1. % e o
o Sy fif e
3. % AeEed

4 % T ged

Question Number : 40 Question Id : 99836719758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the fOllOW‘iﬂg tearns wornl the Wormen's Cricket World Cup in 20177

Options:

1. ® India

2. ¥ England

3. ® australia
4. % West Indies

Question Number : 40 Question Id : 99836719758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgfeiaT & & g S = 2017 # Afger v Teear @ ttaT are

Options:
1. % arT

2. ¥ g
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3 % gl
4 % I
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Question Number : 41 Question Id : 99836719759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

A rman has Rs 85 in coins of 2-rupee, 5 - rupees and 10 - rupees. The number of coins of each denomination

is equal. What is the total number of coins he has?

Options:
1.9 15

2. % 45
3. % 30
4. % B0

Question Number : 41 Question Id : 99836719759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

T ATEHT U 2 - ¥09, 5 - 70 3% 10 - #0d 3 gl & &0 # a1 85 308 8 Uedw Hoaam & gl S 6T shie ol I

T e R g 8

Options:
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1. ¥ 15
2. % 45
3. % 30
4. % B0

Question Number : 42 Question Id : 99836719760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the least nurmber that should be added to 2480 50 that the sum is exactly divisible by 5, 4, 5 and 67

Options:
1.9 40
= % 20
3. % 50
4. % 80

Question Number : 42 Question Id : 99836719760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE A Tl ! G 747 & e 2480 § TS AE1 amiEy a1 98 A0 3, 4, 5 A7 6 & quigar S g

Options:
1.9 40
2. % 20
3. % B0
4. % B0

Question Number : 43 Question Id : 99836719761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

what will be the eventual bank balance when a deposit of Rs. 900 25 and a withdrawal of Bs. 650.57 is made
to an account balance of Bs. 1350.147

Options:

1. # Rs. 1499.32
= % Rs 154982
3. ¥ Rz 1599.82
4 % Rs 164982

Question Number : 43 Question Id : 99836719761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%m@ﬁﬁgooﬁ T FAT Fo A 650,57 Tt i el e 0% o et S e, e 39 @ # 1350, 14 70 & dee

Options:
1. % 1499 532 ==t

= #® 1549 52 &
= % 1595 82 ==t
4 ® 1549 32 w0

Question Number : 44 Question Id : 99836719762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

& grocer has a sale of Bs. 2200, Bs. 3250, Bs. 3280 and REs. 2400 in 4 consecutive months. Atleast how much
should the sale be in the 5th month to et an average sale of Bs. 23007

Options:

1. % Rs 3330
= % Rs 3340
3. % Rs. 3360
4. % Rs 3370

Question Number : 44 Question Id : 99836719762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

CorrectMarks 1 Wrong Marks: 0.25

Eré-cmﬁmmcl AR AT H WHa 3200 704, 3250 704, 3250 70 & 3400 707 &7 =it 5T 81 3300 = 3
o S 3 wE o o & o et Td g ame

Options:
1. % 3320 w0

= ® 3340 0
S % 3ZE0 e
4 & 3370 T

Question Number : 45 Question Id : 99836719763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the total discount applied when 3 successive discounts of 25 percent, 15 percent and 12.5 percent are
applicable?

Options:

1. ¥ 44 22 percent
2. % 42 44 percent
3. #® 46 44 percent
4 % 47 22 percent

Question Number : 45 Question Id : 99836719763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
25 Wia e, 15 Wided 5T 125 Uid e % 3 FiH® §¢ @] 5 i 0T 47 Fel §¢ AN E1a 1 &7

Options:

1.9 44 22 uidaa
2. % 42 44 UidaT
3. % 46 44 nideT

4 % 45 22 gidad

Question Number : 46 Question Id : 99836719764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In an election between 2 candidates, one got 60 percent of the total valid votes, 20 percent of the total votes
werea invalid. If the total number of votes were 2000, how many valid votes did the other candidate get?

Options:
1. % 1280

2. % 1920
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3. ¥ 2560
4. % 3200

Question Number : 46 Question Id : 99836719764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 R & e 37 UF H UF e dU AT # O 60 uided T 0, T aiel @7 20 UidaT s om At #ie  39 2000
Ei g ﬁmm%ﬁgﬁmamﬁﬁ?ﬂﬂ " 1

Options:

1. % 1280
2 % 1920
3. ¥ 2560

4. % 3200

Question Number : 47 Question Id : 99836719765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two workers ¥ and ¥ are paid a total of s, 9000 by their employer. ¥ received 25 percent more than the sum
received by ¥ How mmach did ¥ recerve?

Options:

1. % Rs. 4000
= ¥ Rs. 5000
3. % Rs. 4500
4. % Rs 5500

Question Number : 47 Question Id : 99836719765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

E ATHERT X &M w1 ek [T BRI e 000 DU T U a1 A1aT 51 Y w1 X SR HTE R & 25 Afd e Siréer oTe gem
Y T e T TH Ba Y

Options:

1. % 4000
2. ¥ 5000 T
3. ® 4500 T
4, % 5500 w0

Question Number : 48 Question Id : 99836719766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two students appeared for an exarmination. Cne of them scored 25 marks more than the other and his marks
was 60 percent of the sum of their marks. What was the total marks obtained by them?

Options:

1. % 100 percent
= ¥ 125 percent
3. # 120 percent
4. % 75 percent

Question Number : 48 Question Id : 99836719766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 100 ofdaa
2. ¥ 125 oidad
% % 120 O

4 # 75 uigaT

Question Number : 49 Question Id : 99836719767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& seller expects a gain of 25 percent on his cost price. If in a week, his sale was Rs. 14,000, what was his
average daily profit?

Options:

1. % Rs. 250
= % Rs. 350
3. % Rz 500
4. ¥ Rs. 400

Question Number : 49 Question Id : 99836719767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Teand T @ SO AT 55 WE 25 Hid9d &1 @ 514 @1 SHilg, o1 Jie U a07g |, 90! &l 14,000 20t off, T1 9T f|q
T F T T Ay

Options:

1. % 250 w7t
o % 350w
3. % 500 B

4 % 400 T

Question Number : 50 Question Id : 99836719768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sum of money is to be distributed among A B, Cand Dintheraticof 4: 5 6 7 If C gets E5. 200 more
than E, then how much does D receive?

Options:

1. # Rs. 300
. % Rs 1000
3. ® REs. 1200
4 ¥ Rs. 1400

Question Number : 50 Question Id : 99836719768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A B CHRD FdT4:5: 6 7 % umd § e=arat fEaid &t 91 81 9fg C ®1 B & 200 2 sIiE® WA 5id 8, a1 D & feaer
ST T B T7

Options:
1. % 500 &=

= % 1000 0
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S ¥ 1200 w0
4. % 1400 0

Question Number : 51 Question Id : 99836719769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sum of money is to be distributed among A B, Cand Dintheraticof 2:5: 4 8 If C gets Bs. 400 more
than &, then how much does D recejye?

Options:

1. % Es. 400
2 ¥ Rs. 1600
3. ® Es. 1000
4 % Rz 1200

Question Number : 51 Question Id : 99836719769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A B CHRDFATZ: 5 4: 8% aud § U ewnidt [afed & =1 81 3t C 1 A & 400 0 s WA g &, 97D &1
TeRa=T =TS v BT

Options:

1. % 400 w0
2. ¥ 1600 T
3 % 1000 T
4, % 1200 w0

Question Number : 52 Question Id : 99836719770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If Bs. 1500 is to be divided into three parts, proportional to 2/5:2/5:2/ 3, then what is the value of the third
part?

Options:

1. % Rs. 400
2. ¥ Rz 600
3. % Rs. 3260

4. % Rs 540

Question Number : 52 Question Id : 99836719770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afE 1500 0 &1 2)5:3/5:2(3 o argurd # T 90t § Torarhae F=am <1 g, a1 S0 9 &1 4 41 87

Options:

1. % 400 ==
2. ¥ 600 T
3 % 360 T
4, % 540 T

Question Number : 53 Question Id : 99836719771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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There is a 75 percent increase inl an armourtt in 12.5 years at simple interest. What will be the compound
interest of Ks. 20000 after 2 yvears at the same rate?

Options:

1. % FEs 374068
2 % Rs 382032
3. % Rs 272032

4. % Rs 384068

Question Number : 53 Question Id : 99836719771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATTEO S O 12,5 ol # U el H 75 WichorT 1 kg §2 51 J97 3¢ U 3 & ang 20000 T BT ey AT 4T 517

Options:

1. % 3740 68 0
2. ¥ 382032 w0
3 % 372032 w04
4, % 3840685 w0

Question Number : 54 Question Id : 99836719772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& man completes a journey in 16 hours. He travels first half of the journey @ 16 kmjh and the second half @
24 km/h. Find the total journey.

Options:

1. % 2025 km
2 ¥ 207 2 km
3. % 2088 km

4. % 311 4km

Question Number : 54 Question Id : 99836719772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

QEFSTE'?I%FFFIE ¢ H Uk AT QLT e g1 Sy ATAT BT URel ST AET 16 kel /T 571 SERT STaT /0T 24 kenyh 990 T 81 Fel 970
AT

Options:

1. % 3025 km
Z % 207.2 kan
3. % 2088 km
4. % 211.4km

Question Number : 55 Question Id : 99836719773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Acandoa jobin 12 days, B can do it in 16 days. With the help of C, they do it in & days. In how many days
can C do the job alone?

Options:
1. % 24

2. % 20
3. % 38
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4 ¥ 48

Question Number : 55 Question Id : 99836719773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 12 At H U S T TFaTE, B 39 16 eAf ¥ s awar 1 C T OgaT €, 759 6 At # aed 81 C st oy F Tra
ot # 97 dwaT 7

Options:
1. % 24
= % 20
3. % 38
4. ¥ 48

Question Number : 56 Question Id : 99836719774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& can do a piece of work in 16 hours, E and < can do it in 8 hours while & and C can do it 12 hours. How long
will B alone talke to do ity

Options:

1. % 84 hour
2. % 9hour
2. ¥ 96 hour

4 % 105 hour

Question Number : 56 Question Id : 99836719774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
A FHFTOE G 16 T H T TFaT s, B s C TH 8 U H 9 G & Tl & W C 30 12 U H &7 T 31 B sl 30

T H T T T wTr?
Options:

1. % 849

2 ® 9w

2 v 98T

4 % 1059

Question Number : 57 Question Id : 99836719775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& tank is 20 mlong, 15 mwide and 10 mdeep. What is the cost of plastering its walls and bottom at 80 paise
per 597

Options:

1. % REs. 200
2. % Rs. 400
2. % Rs. 600

4. % Rs 800

Question Number : 57 Question Id : 99836719775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ 200 w0y

o % 400 w0
3 ® 500w
4 & 200 T

Question Number : 58 Question Id : 99836719776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& cistern 8 m long and & m wide contains water upto a depth of 2 m. What is the area of the wet surface?

Options:

1. % 26m°
2 % 52m?
3. % 78 m°
4. ¢ 104 m?

Question Number : 58 Question Id : 99836719776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
8 1m & 3 6 m TS AT H 2 m @ TR 9 U 9E g1 el a9 @1 G679 57

Options:
1. % 26 m?

> % 52 mm?

2. % 78 mm°

4. ¥ 104 mm®

Question Number : 59 Question Id : 99836719777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following pie chart shows the sales of various itermns of a stationary shop for a month. If the 1500 pens are
s0ld, then how many bhooks are sold by the shoplkeeper?

Sales of various items of a Stationary
shop

Pencils

Options:
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1. % 15000
o, % 2550
3 ¥ 3750
4. % 12000

Question Number : 59 Question Id : 99836719777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
forg i = e W # v w2amd g O fafing wet 4 Tk o gafar &1 e gaeeR EnT 1500 G a9 3w ann
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Options:

1. % 15000
2 % 2550
3. ¥ 3750
4. % 12000

Question Number : 60 Question Id : 99836719778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following line graph shows the production of two products & and B in a company over different yvears. In
which year, the combined production of 4 and E is the highest?

= Production of A = Production of B

45 40
- W0 35 35

m
< 30 25

18
E 20 15 17

2015 2016 2017 2018 2019
Year

Options:
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1. % 2018
o % 2017
3 % 2018
4. ¥ 2015

GET IT ON
Google Play

Question Number : 60 Question Id : 99836719778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 2018
2 % 2017
3 % 20186
4 ¥ 2015
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Group Id:

Group Maximum Duration :
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Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:
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Section type:
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General English
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Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671070
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836719779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "Mo error”
option.

(&) First France, | (E) then in U5, | (2) the boclk becarme a best seller. | (O Mo error
Options:
1% A
2 ¥ B
3% C
4 % D

Question Number : 61 Question Id : 99836719779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
option.

(&) First France, | (Bl then in US, | iC) the book became a best seller. | (D) Mo error
Options:
1.% 4
= ¥ E
3. % C
4. % D

Question Number : 62 Question Id : 99836719780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Sachin Tendulkar | is the greater cricket player | that the country has ever produced. | No Error.
Options:

1. #® sachin Tendulkar

2. ¥ i3 the greater cricket player

3. * that the world has ever seerl.

4 % Mo Error
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Question Number : 62 Question Id : 99836719780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Sachin Tendulkar | is the greater cricket player [ that the country has ever produced. | No Error
Options:

1. % Sachin Tendulkar

= % iz the greater cricket player

3. ¥ that the world has ever seern.

4. % Mo Error

Question Number : 63 Question Id : 99836719781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

The employes was looking forward to (hear) from the boss.
Options:

1. # have heard

2. # will be hearing

2. % heard

4. ¥ hearing

Question Number : 63 Question Id : 99836719781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

The employee was looking forward to (hear) from the boss.
Options:

1. # have heard

2. % will be hearing

3. % heard

4. % hearing

Question Number : 64 Question Id : 99836719782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that can correctly replace the highlighted word or phrase and rmake the sentence
grarmmmatically correct. Select the o correction required’ option if the sentence is correct as it is given.

Meera (sung) a patriotic song at the Independence Day function.
Options:

1. * singed

= ¥ sang

2. * sanged

4. % No correction required
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Question Number : 64 Question Id : 99836719782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that can correctly replace the highlighted word or phrase and make the sentence
grammatically correct. Select the Mo correction required' option if the sentence is correct as it is given.

Meera (sung) a patriotic song at the Independence Day function.
Options:

1. # singed

= ¥ sang

3. *® sanged

4. % Mo correction required

Question Number : 65 Question Id : 99836719783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly (and most appropriately) fills in the blank and completes the sentence below,

The new policy
Options:
1. ¥ recormmends

radical changes.

2. % recormmending
3. % isrecormumends

4 % s recormmended

Question Number : 65 Question Id : 99836719783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly (and most appropriately) fills in the blank and completes the sentence below.

The new policy radical changes.
Options:

1. ¥ recormmends

2. # recommending

3. % iz recormumends

4 % i3 recormmended

Question Number : 66 Question Id : 99836719784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Cut of four options given, select the most
logical order of the parts which form a coherent sentence.

It had

F : he could accept it

- Marendra's nature to test

E : something thoroughly before
5 alwaws beern in

Options:

1. % RSPQ
2. % QSFPR
3. % PSRQ
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4 ¥ SORP

Question Number : 66 Question Id : 99836719784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

It had

P : he could accept it

Q0 : Marendra's nature to test

E : something thoroughly before
S . always been in

Options:

1. % RSPQ
2. % OSPR
3. % PSRQ
4. ¥ SORP

Question Number : 67 Question Id : 99836719785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which best expresses the meaning of the given word.

Danlk
Options:

1. % Annov
2. % Hot

2. ¥ Damp
4 % Praise

Question Number : 67 Question Id : 99836719785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ot of the four alternatives, choose the word which best Expresses the meaning of the Ziwerl word.

Cank
Options:

1. % Annoy
= % Hot

3. ¥ Damp

4 % Prajse

Question Number : 68 Question Id : 99836719786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which is OFPOSITE in IMEaning to the given word.

Warne
Options:
1. ® Dim
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2 % Rise
2. % Novice
4 # Decline

Question Number : 68 Question Id : 99836719786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which is OFPPOSITE in meaning to the given word,

Ware
Options:

1. ® Dim

2. ¥ Rise

% ® Novice
4. % Decline

Question Number : 69 Question Id : 99836719787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. % Dilirius

= % Deliricus
3. % Dalirius
4. % Delerius

Question Number : 69 Question Id : 99836719787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Dilirius

2. ¥ Delirious
3. % Dalirius
4. % Delerius

Question Number : 70 Question Id : 99836719788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. ® BEiligerent
2. % Beligerent
3. ¥ Belligerent
4. % Eilligerent

Question Number : 70 Question Id : 99836719788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. ® Eiligerent

2. % Beligerent

=, ¥ EBelligerent

4. % Eilligerent

Question Number : 71 Question Id : 99836719789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 spelled correctly.

Options:

1. # Lejutenant
2. ¥ Lieutenant
3. % Leutenant

4 ® Lieutenent

Question Number : 71 Question Id : 99836719789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is spelled correctly.

Options:

1. ¥ Lejutenant
2. ¥ Lieutenant
% ® Leutenant

4 # [jeutenent

Question Number : 72 Question Id : 99836719790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following idiom mean?

To get a cold feet
Options:

1. ® To grasp early
2. % Tocatch cold
= ¥ To be afraid

4 % To misunderstand

Question Number : 72 Question Id : 99836719790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the following idiom mean?

To get a cold feet
Options:

1. ® To grasp early
2. % Tocatch cold
= ¥ To be afraid
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4 # To misunderstand

Question Number : 73 Question Id : 99836719791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following idiom mean?

Haul ower the coals

Options:

1. # To hide from someone.

2. % Topull or drag something with force.
% % To extract coal from coal mines.

4. ¢ To scold someone severely for an error.

Question Number : 73 Question Id : 99836719791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the following idiom mean?

Haul over the coals

Options:

1. # To hide from someone.

2. % Topull or drag something with force.
3. ® Toextract coal from coal mines.

4. ¥ To scold someone severely for an error.

Question Number : 74 Question Id : 99836719792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | senterces.

A person appointed by two parties o solve a dispute
Options:

1. % Arbitrator

2. % Debonair

3. ® Ascetic

4 % Fatalist

Question Number : 74 Question Id : 99836719792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | sentences.

A person appointed by two parties to solve a dispute
Options:

1. % Arbitrator

2. % Debonair

. ® Asretic
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4. # Fatalist

Question Number : 75 Question Id : 99836719793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | sentences.

Sormeonne who studies or collects Coins, paper money or medals.
Options:

1. ® Lunatic

2. % Sormarmbulist

3. * MNarcissist

4 % Nurrismatist

Question Number : 75 Question Id : 99836719793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, out of four alternatives, select the alternative which is the best substitute of the
words | serntences.

Someone who studies or collects coins, paper money or medals.
Options:

1. * Lunatic

2. % Sormmmarnbulist

2. % MNarcissist

4. % Nurrnismatist

Sub-Section Number : 2
Sub-Section 1d: 9983671071
Question Shuffling Allowed : Yes

Question Id : 99836719794 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the passage carefully and answer the given question:

Capoeira is an Afro-Erazilian blend of martial art, game and dance created by enslaved Africans in Brazil
during the 16th century. Participants form a roda (circle) and take turns in playing instruments, singing and
sparring in pairs in the centre of the circle. The game is marked by fluid acrobatic play, feints, and extensive
use of groundwork, as well as sweeps, kicks, and head-butts. Less frequently used techniques include elbow-
strikes, slaps, punches, and body-throws. Capoeira has evolved from one main form referred to as Capoeira
Angola, into other two forms known as Capoeira regional, and the ever-evolving Capoeira contermporanea.
Master Bimba made a major contribution to the preservation of the art by establishing the first Capoeira
acaderny ir Brazil.

Sub questions

Question Number : 76 Question Id : 99836719795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who created Capoeira?
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A,

Options:

1.  Enslaved &fricans in Erazil
2. % Enslaved Americans in Brazil
Z. % Enslaved Erazilians in Brazil

4 # Enslaved Indians in Brazil

Question Number : 77 Question Id : 99836719796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wher was Capoeira created?

Options:

1. ¥ 12th century
2. % 15th century
3. ¥ 16th century

4, % 18th century

Question Number : 78 Question Id : 99836719797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is a frequently used technigue in Caposira?

Options:

1. ® Elbow-strikes
2. ¥ punches

= % Slaps

4 ¥ Kicks

Question Number : 79 Question Id : 99836719798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From which of the following main form has Capoeira evolved?

Options:

1. # Capoeira contemporanea
2. % Capoeira regional

3. ¥ Capoeira Angola

4, ¥ Capoeira Afro

Question Number : 80 Question Id : 99836719799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr did Master Birmba rriade a contribution to the preservation of Capoeira’

Options:

1. ® By creating the art form Capoeira

2. ¥ By establishing the first Capoeira academy in Brazil.
= % By spreading Capoeira in different countries

4. % By blending Capoeria with other forms of art.

Question Id : 99836719794 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
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Question Label : Comprehension
Read the passage carefully and answer the given question:

Capoeira is an Afro-Brazilian blend of martial art, game and dance created by enslaved Africans in Brazil
during the 16th century. Participants form a roda (circle) and take turns in playing instruments, singing and
sparring in pairs in the centre of the circle. The game is marked by fluid acrobatic play, feints, and extensive
use of groundwork, as well as sweeps, kicks, and head-butts. Less frequently used techniques include elbow -
strikes, slaps, punches, and body-throws. Capoeira has evolved from one main form referred to as Capoeira
Angola, into other two forms known as Capoeira regional, and the ever-evolving Capoeira contemporanea.
Master Bimba made a major contribution to the preservation of the art by establishing the first Capoeira
acaderny in1 Brazil.

Sub questions

Question Number : 76 Question Id : 99836719795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who created Capoeira?

Options:

1. ¥ Enslaved Africans in Brazil
2. % Enslaved Americans in Brazil
2. % Enslaved Brazilians in Brazil

4 % Enslaved Indians in Brazil

Question Number : 77 Question Id : 99836719796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was Caposira created?

Options:

1. # 12th century
= % 15th century
3. ¥ 16th century
4. % 18th century

Question Number : 78 Question Id : 99836719797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following is a frequently used technique in Capoeira?

Options:

1. % Elbow-strikes
2. % Punches

2. % Slaps

4. 9 Kicks

Question Number : 79 Question Id : 99836719798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
From which of the following main form has Capoeira evolved?

Options:
1. ¥ Capoeira conternporanea
= % Capoeira regional

3. ¥ Capoeira Angola
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4, ¥ Capoeira Afro

Question Number : 80 Question Id : 99836719799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How did Master Bimba made a contribution to the preservation of Capoeira?

Options:

1. # By creating the art form Capoeira

2. ¥ By establishing the first Capoeira acadermny in Erazil.
Z. % By spreading Capoeira in different countries

4, % By blending Capoeria with other forms of art.

Zeneral Hindi

Group Number : 5
Group Id : 998367724
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi

Section Id : 998367845

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671072
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 99836719800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRy ng §, T et § 8, 39 e @7 == o ST J0ET & 74T

Options:
1. % v
2 % gIx
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Question Number : 81 Question Id : 99836719800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEfaET ng # or et # € 39 B &1 209 @ S 3ot & @97 8
Options:

1. % wEEar

2 % g
= % I
4. ® ST

Question Number : 82 Question Id : 99836719801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TieET ng H, oW [Oweat § 8, 39 @1 fOded @7 o @ A1 Todd | o947 9eg ]

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 3Wars

2 W

3. guwT

4 T

Question Number : 82 Question Id : 99836719801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TamET g H, o Teeal § §, 39 951 Swmed @7 e # AT Ao 7 @47 Seg, 7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1, &g

2. T

3. g

4. TIHE

Question Number : 83 Question Id : 99836719802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeaT ng # IR [dwedt # 4, foh wore & oy Fdargar IRe fEwe @1 aa9 w4

___________ T SATRT, O AT o1 8 (HTctarfad feraTicrmu)
Options:

1. % qowle
= ® Fer

3 ®qu
4, ® maTRT
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Question Number : 83 Question Id : 99836719802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimET v 8 ox Twent # €, T s & o dager ke Heer 31 o9= 740

_____________ TR ATEAT, AT g1 Gl ol (FIAATIE e e )
Options:

1. % qodle
= ® FEar

3% g
4 R TRITRE

Question Number : 84 Question Id : 99836719803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng & ow Heedt § 9§ 39 ey @7 =09 = 1 el 9 7 Heew 7 5y Bt v 7 aeg 81

Options:

1. % my

o ® U
3. ¢ g
4 ® 7

Question Number : 84 Question Id : 99836719803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ®, oW et § 8, 39 Hwed &7 a9 & A1 el 9T @7 oo 7 51t el W 7 seg 21

Options:

1. % my

o ® U
3. ¥ gaag
4 % oH

Question Number : 85 Question Id : 99836719804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T v §, o Teea § 9, 39 feeT &7 909 & S 9ol seg &1 |31 fSded Ta51 g1

ELE
Options:

1. e
2. % e
3 % g
4. % FET

Question Number : 85 Question Id : 99836719804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. e
2 % o
3 % g
4. % FET

Question Number : 86 Question Id : 99836719805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THHET ng H, oW et # 9, 39 ey @ odd @ S [ J52 B 999 S0 [dwed o)

Bl

Options:

1. % e
2V E-TE
3 % s
4 ® aFq

Question Number : 86 Question Id : 99836719805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng & o Beedt § & 39 ey @7 a9 & A1 BT g=g 51 qee sweT Dwen 3

gy

Options:

1. % pfforepTer
2 V-
3 ® aridEe
4. % arq

Question Number : 87 Question Id : 99836719806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt T W #, o fAweut # 4, T s o o (damgam I fomed &7 2o 34

= I ST T A4 WIS FoHe ol oll #3550 Bl
Options:

1. % @

o %o

3 ¥ FEnT

4 ® ¢

Question Number : 87 Question Id : 99836719806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Tt g #, o fawet # 6, e v o o Tdamgaw 3T ey &7 a2 34

E 1T e SR I T A WIS Jee ATeq edl 1 JaTgev 3l
Options:

1. ¥ @

= %o

3 ¥ FEnT

4 % 7

Question Number : 88 Question Id : 99836719807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET vg §, o THeent § 8, 39 98l D@ @7 e @ A7 St o W0 Uw deg @7 dwed g

St ] et # g geT En
Options:

1. i

2. ® Tl

2. % gapied

4 %yl

Question Number : 88 Question Id : 99836719807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW fwed! § 8, 39 51 Twed @7 =0 @ =1 aaiat o @0 UF deg @7 foded 51

=t g el H AT AT EN
Options:

1. ¢ gt

2. % mEe

3. % gapierd

4 % gomii

Question Number : 89 Question Id : 99836719808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeaT ng # IR [dwedt # 4, foh wore & oy Fdargar IRe fEwe @1 aa9 w4

Options:

1 ST
= % gt
3 % 7

4. % g0

Question Number : 89 Question Id : 99836719808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty ng o, o et § 9, e v & o Mdagaw I fomed &7 a9 #4
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Question Number : 90 Question Id : 99836719809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g

TH T4 gled # WAT g AT TR B
Options:

1. & wa g

2. % ggm aEg

3. ¥ A e

4. % iy e

Question Number : 90 Question Id : 99836719809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW fwed! § 9, 39 Towed &7 a9 T A1 gl a5 9 &7 dwed 5

0 T §led § GH1 G AT 1 2
Options:

1. & Wa T

2 % ggm aed

3. % [AeEEer e

4, % Tipg g

Question Number : 91 Question Id : 99836719810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 ey @7 90T @ S 98T Gy 9 #7 [dwed g

CRICHESTIN
Options:

1. % Hgm g

2. ¥ HaTdEd aeg
3. ® iy A

4 ¥ oo g

Question Number : 91 Question Id : 99836719810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g

FRICHEETIN
Options:
1. % #Hgm g
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Question Number : 92 Question Id : 99836719811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v §, o Heent § 8, 39 [Seey @7 94" & 1 g5 1 a1 9 @7 fdwe g

T Ugel STTH ST A7 &T0er 7o |11 o 37T
Options:

1. fSreraare g

o % A g

3. % o

4 & HgH G

Question Number : 92 Question Id : 99836719811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW et § 9, 39 Tooed @7 =9 T A1 Qg1 e 9 &7 d@ed 50

T Uged STTH S0 A7 T ToT 1T o 37T
Options:

1. ® Teard amr

o R A g

3. ® fipram

4. Gg® Fd

Question Number : 93 Question Id : 99836719812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e na #, or Beedt § 9, 39 Swey &7 23 =1 A1 f5 o geray w1 agt o ane Heey 2

Options:

1. % Feliog T g
2. % FuE @I

3. % T T AT

4 aTeer 9w

Question Number : 93 Question Id : 99836719812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg |, ox Hweat # €, 39 Teer @1 oad ) 1 iy Ty gerat w1 95 aref e ey 81

Options:

1. ® Feftad @ A
o, % FUZ T

3. % [ T AT
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Question Number : 94 Question Id : 99836719813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 99836719813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836719814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836719814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section Id: 9983671073
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Question Shuffling Allowed : Yes

Question Id : 99836719815 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cesticn Label | Comprehension
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Sub questions

Question Number : 96 Question Id : 99836719816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 99836719817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 99836719818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 99836719819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 99836719820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 99836719815 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 99836719816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 99836719817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 99836719818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 99836719819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 99836719820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 9983671074
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 99836719821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Individualised, comprehensive and consistent care provided by one nurse for the total period of care (24/7) is known as:

Options:
| « Pbrimary nursing

- % case method

- % functional nursing

4 % team pursing

Question Number : 101 Question Id : 99836719821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 99836719822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 500 ml of normal saline is to be infused in 4 hours, then how many drops need to be infused per minute? The drop
factor is 20 mega drops per ml.

Options:
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Question Number : 102 Question Id : 99836719822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 99836719823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 99836719823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The process of communication includes;
Options:

, « sender, message, channel and receiver

- % message, media, channel and feedback
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4 w Vverbal. non-verbal message and channel

Question Number : 104 Question Id : 99836719824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ringer’s lactate solution contains all of the following constituents, EXCEPT:

Options:
. = Ppotassium

> % chloride

-  glucose

4 % sodium

Question Number : 104 Question Id : 99836719824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 99836719825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A cuff that is too narrow will provide what type of reading for the patient’s BP?
Options:

, = Tue high reading

- u Itue low reading
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4 w False low reading

Question Number : 105 Question Id : 99836719825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 99836719826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Loud drum like high pitch sounds on percussion known as:

Options:
] # Iesonance

5  fympani

- » hyper resonance

4 % crackles

Question Number : 106 Question Id : 99836719826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 99836719827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is fremitus?
Options:

. » Movement of the thoracic diaphragm during breathing

» % Widened costal angle

-  Perceptible vibration felt through the chest wall when the patient speaks

4 # Use of accessory muscles for respiration

Question Number : 107 Question Id : 99836719827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 99836719828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the normal range for specific gravity of urine?

Options:
1 « 1.001 to 1.060

> % 1.100to0 1.160
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Question Number : 108 Question Id : 99836719828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

{ v 1.001 & 1.060
- % 1.100 & 1.160
- % 1.006 & 1.010

4 % 1.01 & 1.10

Question Number : 109 Question Id : 99836719829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a common solution used for bladder irrigation?

Options:
1 % Sodium nitrate

- % Potassium permanganate

= % Boric acid

4 « Lactic acid

Question Number : 109 Question Id : 99836719829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 99836719830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following actions should NOT be done as part of first aid for poison swallowing?

Options:

, w» Keep checking the patient’s breathing, pulse and level of consciousness.

-~ = Look for clues like plants, empty packets and containers.

= w Ifunresponsive, open the airway and check breathing.

4 « Make the patient drink clear liquids and induce vomiting.

Question Number : 110 Question Id : 99836719830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 111 Question Id : 99836719831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One teaspoon is equal to how many drops?
Options:

; % 15drops

» # 30drops
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5 % 00 drops

4 « 15 drops

Question Number : 111 Question Id : 99836719831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 99836719832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the dose of insulin in ml, if 24 units of insulin is given using U-40/ml insulin?

Options:
1 % 0.2ml

> % 0.4 ml
3 o 0.6 ml

4 % 0.8ml

Question Number : 112 Question Id : 99836719832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 99836719833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the Non-Essential Amino Acid from the following options.
Options:

1« Glutamic Acid

- % Histidine
= % Valine

4 ® Lysine

Question Number : 113 Question Id : 99836719833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 114 Question 1d : 99836719834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pellagra is a deficiency of:
Options:

. = Ppyridoxine
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A,

-~ % pantothenic acid

3 o Nicotinic acid

4 % biotin

Question Number : 114 Question Id : 99836719834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 99836719835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A patient is diagnosed with gout. What type of food should be given to the patient?

Options:
, = High iodine diet

> % Diabetic diet

=  Low purine diet

4 % Iron rich diet

Question Number : 115 Question Id : 99836719835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 99836719836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the National Goitre Programme launched?

Options:
1 ® 1952

> o 1962
s % 1972

4 % 1982

Question Number : 116 Question Id : 99836719836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 1952
5 v 1962
o % 1972

4 % 1982

Question Number : 117 Question Id : 99836719837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The hormone which helps in glycogenolysis is:
Options:

, « cpinephrine

- % estrogen
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= % estradiol

4 ® trypsin

Question Number : 117 Question Id : 99836719837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 99836719838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The immunoglobulin that can cross the placenta and transfer the mother’s immunity to the developing foetus is:

Options:
, = immunoglobulin D

-~ % immunoglobulin M

- % immunoglobulin A

4  immunoglobulin G

Question Number : 118 Question Id : 99836719838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 99836719839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pyrimidine base that is present in RNA is:
Options:

1 % adenine

5 % guanine

= o uracil

4 # thymine

Question Number : 119 Question Id : 99836719839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 99836719840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT true of operant conditioning?
Options:

| « Responses are involuntary and automatic
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A,

» u Responses decrease when reinforcements stop

= % Learners role is active

4 % Law of effect is used

Question Number : 120 Question Id : 99836719840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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DisciplineZ
Group Number : 7
Group Id : 998367726
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplinez
Section Id : 998367847
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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A,

Sub-Section Number: 1
Sub-Section 1d: 9983671075
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 99836719841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
All men are mortal. Socrates is a man. Socrates is mortal. Identify the tvpe of reasoning.

Options:
, = Dialectical reasoning

-  Deductive reasoning

- % Inductive reasoning

4, = Democratic reasoning

Question Number : 121 Question Id : 99836719841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 99836719842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mr. X is on a diet for obesity. He wants some of his favourite dessert. ice cream. but he is also reminded of his extra
calories. Identify the type of conflict.

Options:

., » Approach-approach conflict

- « Approach-avoidance conflict
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= % Avoldance-avoidance conflict

4 = Double approach-avoidance conflict

Question Number : 122 Question Id : 99836719842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 99836719843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which enzyme is secreted by a sperm which helps in its penetration into the ovum?

Options:
, « Hyaluronidase

- % Protease

%z % Glucocerebrosidase

4 = Amylase

Question Number : 123 Question Id : 99836719843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 124 Question Id : 99836719844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For which of the following vaginal signs, increased pulsation is felt through the lateral fornices during pregnancy?
Options:

. Osiander sign

- = Chadwick’s sign

5 # Jacquemier’s sign

4 = Hegar’s sign

Question Number : 124 Question 1d : 99836719844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 99836719845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Which of the following movements occur after delivery of the head during the mechanism of labour?
Options:

1 % Flexion
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- % Internal rotation

5 w Crowning

4 + Restitution

Question Number : 125 Question Id : 99836719845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 99836719846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the average duration of the first stage of labour in primigravidae?

Options:
1 % 2 hours

> % 6 hours
% % 8 hours

4 « 12 hours

Question Number : 126 Question Id : 99836719846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 127 Question Id ;: 99836719847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which drug causes lactation suppression in a postnatal mother?

Options:

, « Bromocriptine

> s Oxytocin
= # Metoclopramide

4 # Sulpiride

Question Number : 127 Question Id : 99836719847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 99836719848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which instrument is used for low rupture of membranes?

Options:
, « Kocher’s forceps

5 % Kielland’s forceps
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= % Curette

4 % Owvum forceps

Question Number : 128 Question Id : 99836719848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 99836719849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the drug of choice, specifically for the management of convulsions in eclampsia?

Options:
= Ampicillin

> % Pethidine

5  Magnesium sulphate

4 = Diazepam

Question Number : 129 Question Id : 99836719849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id ;: 99836719850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which procedure is performed in order to prevent an abortion in case of cervical incompetence?

Options:

; w Metroplasty

» % Colpotomy
5 o Cerclage

4 % Induction

Question Number : 130 Question Id : 99836719850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 99836719851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which position is a pregnant lady to be placed on the delivery room table for a caesarean section?
Options:

, = Trendelenburg position with the legs in stirrups

- # Semi-Fowler’s position with a pillow under the knees
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A,

5 w Prone position with the legs separated and elevated

4 « Supine position with a wedge under the right hip

Question Number : 131 Question Id : 99836719851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 99836719852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following signs or symptoms would a nurse note if superficial venous thrombosis were present in a mother
who delivered a healthy infant by cesarean section?

Options:
, = Palpable dorsalis pedis pulse

> % Paleness of the calf area

5  Enlarged and hardened veins

4 % Coolness of the calf area

Question Number : 132 Question Id ;: 99836719852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 99836719853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which nursing intervention would be appropriate initially, when a nurse assessing the uterine fundus of a mother in the
immediate postpartum period, notes that the uterus feels soft and boggy?

Options:

, = Elevate the patient’s legs

- = Pushon the uterus to assist in expressing clots

5 » Encourage the patient to void

4  Massage the fundus until it is firm

Question Number : 133 Question Id : 99836719853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 99836719854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is noted on the external monitor tracing a contraction, when a nurse suspects umbilical cord
compression while monitoring a mother in labour?

Options:
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1 « Variable decelerations

- w Variability

- » Early decelerations

4 # Accelerations

Question Number : 134 Question Id : 99836719854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S UF AW FHS H Uk A H RN FE O A G5 F Heg Far ¢, Fetatad 7 @
e W v 5 T 96T O qTer SEd Alffered W oA fE3r Sar 82

Options:

LJWW
o W qﬁ?l?gl?l?m

= % e HT=IoT

4HETUT

Question Number : 135 Question Id : 99836719855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the condition called where the uterus is turned inside out partially or completely?

Options:
1 % Involution

- % Subinvolution
=z % Retroversion

4 « Inversion

Question Number : 135 Question Id : 99836719855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 99836719856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which term refers to the progressive increase in skill and capacity to function?

Options:
1 % Maturation

-  Development

=z % Growth

4, = Intelligence

Question Number : 136 Question Id : 99836719856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 99836719857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is Caput Succedaneum?

Options:
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, « Oedema of the presenting part of the scalp

> # Accumulation of blood between the periosteum and the flat skull bone

5 % Wwide separation of skull sutures

4, = Presence of forceps marks over the scalp

Question Number : 137 Question Id : 99836719857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 99836719858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following classifications of Protein-Energy Malnutrition classifies a weight of more than 90% of the
expected weight for that age as normal?
Options:

; = Classification by Indian Academy of Paediatrics

- = Syndromal classification
= « Gomez classification

4 % WHO classification

Question Number : 138 Question Id : 99836719858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 99836719859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

The anterior fontanelle closes in children at the age of:

Options:
1 % 6to 10 months

~ « 12 to 18 months
=z % 20 to 24 months

4 % 26 to 30 months

Question Number : 139 Question Id : 99836719859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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A,

Question Number : 140 Question Id : 99836719860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Brown Adipose Tissue (BAT) is NOT located in which of the following areas?

Options:
1 ® ]_ﬂtEl‘SCEtpulEtr region

> w Supraclavicular region

- » Axillary region

i Sacral region

Question Number : 140 Question Id : 99836719860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671076
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 99836719861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a classic presenting symptom of Retinoblastoma?
Options:

, = Brushfield’s spots

-  Cat’s eye reflex

5 » Reed-Sternberg cells

4 = Brudzinski’s sign

Question Number : 141 Question Id : 99836719861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 142 Question Id : 99836719862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

Which of the following options is also known as Bell’s palsy?

Options:
; = Erb’s palsy

-  Facial palsy

5 = Klumpke's palsy

, w Brachial palsy

Question Number : 142 Question Id : 99836719862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 99836719863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For which of the following conditions can a child be advised ketogenic diet therapy?
Options:

, = Encephalitis

> o Seizures

- # Guillain-Barre syndrome

4 = Cerebral palsy

Question Number : 143 Question Id : 99836719863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question 1d : 99836719864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which clinical staging of Wilm’s tumor involves metastasis to distant organs?
Options:

g Stage Il

R

5 of Stage IV

5 % Stage III

4 % Stage V

Question Number : 144 Question Id : 99836719864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question 1d : 99836719865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which site is the most preferred in order to administer DPT vaccine to an infant below one year of age?

Options:


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

1 « Vastus lateralis muscle
- % Deltoid muscle
z % Gluteal muscle

4 = Biceps muscle

Question Number : 145 Question 1d : 99836719865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 99836719866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which laboratory study would confirm the diagnosis of rheumatic fever?

Options:
, » Haemoglobin estimation

o o Antistreptolysin O titre

=z # Red blood cell count

4 % Platelet estimation

Question Number : 146 Question Id : 99836719866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 99836719867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
People of which descent are more commonly affected with thalassemia?

Options:
1 % Caucasian descent

> o Mediterranean descent
3z % Mexican descent

4 % Red Indian descent

Question Number : 147 Question Id : 99836719867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 99836719868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The urine examination of a child with acute glomerulonephritis shows:

Options:
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, = decreased specific gravity

> « brown colour urine

5 » increased urine output

4 # red colour urine

Question Number : 148 Question Id : 99836719868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 99836719869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which condition presents *lock jaw” as the initial clinical feature?

Options:
1 % Pertussis

> « Tetanus
= % Tuberculosis

4 % Rabies

Question Number : 149 Question Id : 99836719869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WS Aeiee o&0T & F H Fia @ Tufy we S gvga w82

Options:



https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A
1 =B ﬁ?ﬁ‘ E‘hfl’

gAETYH (Z2a9)

> ¥ 2

S_RW
4_%@?

Question Number : 150 Question Id : 99836719870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who introduced the Staining Technique?

Options:
1 % Louis Pasteur

> % Watson and Crick
= « Robert Koch

4 % Pau Ehrlich

Question Number : 150 Question Id : 99836719870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 151 Question Id : 99836719871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify an immunoglobulin present in milk, saliva and tears.

Options:
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A,

Question Number : 151 Question Id : 99836719871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question Id : 99836719872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Acid-Fast Staining do?

Options:

. Differentiates between acid-fast bacteria (red) and non acid-fast bacteria (blue)

5 R Differentiates between non acid-fast bacteria (red) and acid-fast bacteria (blue)
- » Cannot differentiate between acid-fast bacteria (red) and non acid-fast bacteria (blue)

4 = Cannot differentiate between non acid-fast bacteria (red) and acid-fast bacteria (blue)

Question Number : 152 Question Id : 99836719872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 99836719873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the type of hypersensitivity related to cell-mediated hypersensitivity.
Options:

; w Typel

5 u lypell

o w lypelll

4 o Type IV

Question Number : 153 Question Id ;: 99836719873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question 1d : 99836719874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the Billroth IT procedure?

Options:
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A,

, = Duodeno-jejunal bypass with sleeve gastrectomy

-  Subtotal gastric resection with gastrojejunostomy anastamosis

- % Jlotal gastrectomy with esophagojejunostomy anastamosis

4 = Subtotal gastric resection with gastroduodenostomy anastamosis

Question Number : 154 Question Id : 99836719874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id ;: 99836719875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the ideal time to perform chest physiotherapy?

Options:
1 % 30 minutes before meals and 1 to 3 hours after meals

- % 1 hour before meals and 30 minutes after meals
= « | hour before meals and 1 to 3 hours after meals

4 % 30 minutes before meals and 30 minutes after meals

Question Number : 155 Question Id : 99836719875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 99836719876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the use of a Cystometrogram?
Options:

1 Evaluates the bladder tone and sensation of filling

- » Records electrical activity within the muscles

5 % Measures the urine volume in a single voiding

4 = Evaluates the structure, function and effusion of a kidney

Question Number : 156 Question Id : 99836719876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 99836719877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 99836719877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the ideal position during a lumbar puncture?
Options:

, = [Lateral position with extra pillows under the head

- w Fowler’s position
5  Lateral recumbent position with knees flexed

4 % Supine position

Question Number : 158 Question Id : 99836719878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mr. X’s blood glucose level is 250 mg/dl and he has ketones in his urine. What advice should a nurse give him about
exercising?

Options:

1 % Exercise one to three times a week

- u Brisk walking at the same time everyday

3 « Do not exercise

4 % ExXercise once a week

Question Number : 158 Question Id : 99836719878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 99836719879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurse is caring for a patient following an endotracheal extubation. Which of the following is NOT a nursing
care aspect in this case?

Options:
, = Give oxygen by a face mask

- Do not provide mouth care to prevent bleeding

- % Do not give anything orally (NPO)

, # Monitor respiratory rate and chest excursions

Question Number : 159 Question Id : 99836719879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 99836719880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A,

Correct Marks: 1 Wrong Marks: 0.25
A physician advised a viral load test for a patient with HIV. What is the purpose of this test?

Options:

| « Measures plasma HIV RNA levels

- » ldentifies antibodies against HIV

= » Helps in confirming seropositivity

4 % Detects antibodies for HIV

Question Number : 160 Question Id : 99836719880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 99836719881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify a microvascular complication of diabetes mellitus from the following.
Options:

1 % Stroke

- « Nephropathy

- » Peripheral vascular atherosclerosis

4 # Coronary atherosclerosis

Question Number : 161 Question Id : 99836719881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 99836719882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which test is used to check the collateral circulation to the hand?
Options:
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A,

¢ Capillary refill test

1 ®
> % Schanwoth’s test
=z « Allen test

4 u Romberg’s test

Question Number : 162 Question Id : 99836719882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 99836719883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the duration of the fibroblastic phase in wound healing?

Options:
LD days to 3 weeks

> w 3 daysto 3 weeks

¢ 4 daysto 1 week

¢ 1 day to 4 weeks

Question Number : 163 Question Id : 99836719883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 164 Question Id : 99836719884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify a degenerative disorder characterised by disseminated demyelination of nerve fibres of the brain and spinal
cord.

Options:

, % Myasthenia gravis

-  Multiple sclerosis

_— Muscular dystrophy

4 % Alzheimer’s disease

Question Number : 164 Question Id : 99836719884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 99836719885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of movement of individuals or groups from one stratum to another is called:

Options:
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, = social change

> % social stratification

5 « social mobility

4 = social organisation

Question Number : 165 Question Id : 99836719885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 99836719886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which year did the Government of India pass the Dowry Prohibition Act?

Options:
|« 1961

> % 1986
5 % 1968

4 % 1916

Question Number : 166 Question Id : 99836719886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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> % 1986

- » 1968

L % 1916

Question Number : 167 Question Id : 99836719887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following characteristics is NOT true of a primary group?

Options:
1 % Small size

> o Formal rules

5 ® Uity

4 s Direct cooperation

Question Number : 167 Question Id : 99836719887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 99836719888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The recommended period for isolation for measles is:
Options:

1 % 3 weeks after onset of the disease

31'{1

- « from onset of the catarrhal stage till 3 day of the rash
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A,

- % from onset of the catarrhal stage till 7th day of the rash

, = from onset of the catarrhal stage till 10t day of the rash

Question Number : 168 Question Id : 99836719888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FE & e & v sufaa el &
Options:

| 5 TT Y RHE F 3 Hed® A

E_ngwﬁrapmﬁmaﬁﬁﬁmﬁ?rﬁ

. FFEH =|{U|£r&ﬁ3ﬂ?rﬁﬁlﬂa'|ﬁ#?§ﬁ?ra$

. A muuﬁre{ﬁmﬁ@mmﬁ#m&%ﬂaﬂ:

Question Number : 169 Question Id : 99836719889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following vaccinations is given through the intradermal route?

Options:
, = Hepatitis B

- % Measles
s « BCG

4 # Japanese encephalitis

Question Number : 169 Question Id : 99836719889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 99836719890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Primary prevention aims to reduce the:

Options:
; = prevalence of a disease

> o incidence of a disease
- % number of cases of a disease

4 = complication of a disease

Question Number : 170 Question Id : 99836719890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 99836719891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An outbreak of disease in bird population is known as:

Options:
| « epornithic

- % enzootic

- % epizootic
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A,

4 # exotic

Question Number : 171 Question Id : 99836719891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 99836719892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A disease that spreads by vertical transmission is:

Options:

, = typhoid

- u diphtheria

5 o hepatitis B

4 % malaria

Question Number : 172 Question Id : 99836719892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

Question Number : 173 Question 1d : 99836719893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Administration of immunoglobulin is an example of:

Options:
, % Aactive acquired immunity

- % active natural immunity

5 % passive natural immunity

4 « Passive acquired immunity

Question Number : 173 Question 1d : 99836719893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 99836719894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The committee which was appointed in 1974 by the Government of India, under the Ministry of Health and Family
Planning, for medical education and supporting man power is known as the:

Options:
1 « Shrivastav Committee

> % Chadha Committee

= % Mudaliar Committee
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A,

4 = Mukerjee Committee

Question Number : 174 Question 1d : 99836719894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 99836719895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the recommended period for taking a post-coital contraceptive pill after unprotected intercourse?

Options:
¢ Within 5 days

FI .

> % within 4 days

5  Within 3 days

4 # Within a week

Question Number : 175 Question Id : 99836719895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 99836719896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following diseases is accompanied by hydrophobia?

Options:
; = Dengue fever

> # Rickets
=z % Rubella

4 « Rabies

Question Number : 176 Question Id : 99836719896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 99836719897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The drug used in XDR-Tuberculosis is:

Options:
1 % Ethambutol

-  Capreomycin
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A,

5 w Streptomycin

4 w Rifampicin

Question Number : 177 Question Id : 99836719897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 99836719898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person with paucibacillary leprosy has:

Options:
1 % 1 to 5 skin lesions with no nerve invelvement

- 1105 skin lesions with single nerve involvement

- % more than 5 lesions with single nerve involvement

4 = more than 5 lesions with multiple nerve involvement

Question Number : 178 Question 1d : 99836719898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 99836719899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The MTP Act recommends termination of pregnancy by a single doctor when the pregnancy does NOT exceed:

Options:
1 ® 20 weeks

> o 12 weeks
=z % 16 weeks

4 % 14 weeks

Question Number : 179 Question Id : 99836719899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 99836719900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Sigmund Freud. which of the following options functions on the basis of the *reality principle?

Options:
1 ® Id

5  Eg0
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5 % Super-ego

4 = Apathy

Question Number : 180 Question Id : 99836719900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

Sub-Section Number: 1
Sub-Section 1d: 9983671078
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 99836719901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cytogenetic tests are advised for which of the following conditions?

Options:
; = Schizophrenia

> % Mania
% % Autism

4 « Mental retardation

Question Number : 181 Question Id : 99836719901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 99836719902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the absolute contraindication for ECT?
Options:

, = Severe psychosis

> w Organic mood disorders

=z % Liver disorders

4 « Raised ICP
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Question Number : 182 Question Id : 99836719902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 99836719903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An intense sense of rapture is seen in:

Options:
, = cuphoria

- % elation

- % exaltation

4 ecstasy

Question Number : 183 Question Id : 99836719903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 99836719904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the most appropriate nursing intervention for a patient with compulsive behaviour?

Options:
, w Set limits for the patient’s compulsive acts

- % lgnore the patients activities

- » Provide positive reinforcement for the patient’s non-ritualistic behavior

4 Involve the patient in various unit activities

Question Number : 184 Question Id : 99836719904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id ;: 99836719905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tools is used to increase self-awareness?

Options:

, » Insight and treatment attitude questionnaire

> « Johari window

= » Eysenck personality inventory

4 % Rorschach inkblot test
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Question Number : 186 Question Id : 99836719906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the best nursing approach to use when the patient thinks that his/her food is poisoned?
Options:

. = Assure the patient that all food served in the hospital is safe to eat

- u Offer food in the patient’s own container

5  Allow the patient to consume packed food or food from unopened containers, fruits and eggs

4 = Explain to the patient that it is a symptom of a disease

Question Number : 186 Question Id : 99836719906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 99836719907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The condition that develops after total or partial withdrawal of drugs after prolonged use is called:

Options:
, w dependence syndrome

> « withdrawal state
% % acute intoxication

4 % poor input control
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Question Number : 188 Question Id : 99836719908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is Narcolepsy?

Options:

, « Excessive day time sleep

- = Sleep walking
5 = Sleep apnea

4 = Sleep talking
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Question Number : 189 Question Id : 99836719909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a characteristic of dyslexia?

Options:
; = Slow speed of reading

> % Impaired comprehension

=z % Word omission

4 « Aftention deficit

Question Number = 189 Question Id : 99836719909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A 78 year old patient. diagnosed with Alzheimer’s dementia, is admitted to the psychiatric ward. Which of the following
nursing interventions is appropriate in order to manage the patient’s mood changes?

Options:
, w» Giving too many choices in food and clothes

-  Keeping a calm environment with a fixed daily routine

- » Engage in some activity continuously

4 # Provide music therapy

Question Number : 190 Question Id ;: 99836719910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 99836719911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The General Adaptation Syndrome (GAS) model explains:
Options:

1 # causes of stress

> of pEL'SGL‘L'S response to stress

5 w conflict management
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4 = adaptation
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Question Number : 192 Question Id : 99836719912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A type of counselling in which the counsellor uses techniques such as reassurance and giving information is known as:

Options:
, « eclectic counselling

- u directive counselling

5 # hon-directive counselling

4 w informal counselling

Question Number : 192 Question Id : 99836719912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 99836719913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is true regarding Symposium as a teaching method?
Options:

 Gives live and first-hand field exposure

Do

> u The learner learns by practice

5  Iwo or more persons, under the direction of the chairman, present separate speeches

4 = One person speaks on a given topic

Question Number : 193 Question Id : 99836719913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 194 Question Id : 99836719914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The philosophy which believes that discipline is maintained through affection and sympathy and not by punishment is
called:

Options:
1 % naturalism

- % idealism

5 % pragmatism
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4 « realism
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Question Number : 195 Question Id : 99836719915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The supervisory style in which the supervisor develops faith and confidence in his/her subordinates and involves them
in the decision making is known as a:

Options:
, « democratic style

- % benevolent style

- » autocratic style

4 u laissez-faire style

Question Number : 195 Question Id : 99836719915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 196 Question Id : 99836719916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the basis of ABC analysis in inventory control?

Options:
1 % Unit cost

- % Critical cost

s  Annual consumption value

4 % Practice standard
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Question Number : 197 Question Id : 99836719917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Excursions to the patient’s area, involving staff and student learning experiences are known as:
Options:

, = Dhursing standards

- w Dursing protocols


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A,

5 w Dhursing audit

4  Dursing rounds
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Question Number : 198 Question Id : 99836719918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of application of the research findings done on the nurses in Hyderabad to all the nurses in Telangana is
known as:

Options:
1 % randomisation

~ % Hawthome effect

-  generalisation

4 # research communication
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Question Number : 199 Question Id : 99836719919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
No relationship exists between smoking and the incidence of lung cancer. This is an example of:

Options:
; = Tresearch hypothesis

> w complex hypothesis

5  Lull hypothesis

4, w academic hypothesis
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Question Number : 200 Question Id : 99836719920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The curve that is obtained by joining the middle top points of a rectangular bar graph with a straight line is a:
Options:

; = histogram
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- « frequency polygon

- % cumulative frequency curve

4 % piediagram
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